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Logic Programming

There are five houses.

The Englishman lives in the red house.
The Spaniard owns the dog.

Coffee is drunk in the green house.
The Ukrainian drinks tea.

The green house is immediately to the right of the

ivory house.

The Old Gold smoker owns snails.
Kools are smoked in the yellow house.
Milk is drunk in the middle house.
The Norwegian lives in the first house.

The man who smokes Chesterfields lives in the

house next to the man with the fox.

Kools are smoked in the house next to the house

where the horse is kept.

The Lucky Strike smoker drinks orange juice.

The Japanese smokes Parliaments.
The Norwegian lives next to the blue house.

Now, who drinks water? Who owns the zebra?

:— use module (library(clpfd)) .
change (X, [P5, P10, P20, P50]) :-
P5 #>= 0, P10 #>= 0, P20 #>= 0, P50 #>= 0,
X #= 5 * P5 + 10 * P10 + 20 * P20 + 50 * P50,

label ([P5, P10, P20, P50]).

?- change (X, [1,2,3,4]).

X = 285.

?- change (100, X)

X = [0, 0, 0, 2] ;
X = [0, O, 5, 0] ;
X = [0, 1, 2, 1] ;
X =10, 2, 4, 0] ;
X = [0, 3, 1, 1] ¢
X = [0, 4, 3, 0] ;
X = [0, 5, 0, 1] ;
X =10, 6, 2, 0] ;
X = [0, 8, 1, 0] ;
X = [0, 10, O, O] ;
X =1[2, 0, 2, 1] ;
X = [4, 0, 4, 0]

Action (h for help) ? abort


https://rosettacode.org/wiki/Zebra_puzzle#Constraint_Programming_version
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Logic Programming 4 =
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transfer
‘%%‘Sf&gfi‘?ﬁﬁm ﬁw‘m : locked K C * control U K * control Ul K1 -o
locked K1 C * control U K * control Ul KI1.

M m-n uuc‘\:n—”‘: ;ﬁ%?ﬁﬁ' R, #ONT ARG
W

context init { (control alice alice key),
(control bob bob key), (locked alice key c) }

1: (transfer alice key c alice bob bob key)
?- 1

1: (transfer bob key c bob alice alice key)
Sl

Final state:

{ (control alice alice key), (control bob
bob key), (locked alice key c), (stage transfer)}
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MicroKanren
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http://minikanren.org/
http://webyrd.net/scheme-2013/papers/HemannMuKanren2013.pdf
http://webyrd.net/scheme-2013/papers/HemannMuKanren2013.pdf

Code


https://gist.github.com/rust-play/d148ac6da8e45e7c419b49c8130fc08e

Thank You!

WWW.Nervos.org

github.com/nervosnetwork



